Doplii vétsi, menSi rovna se < =

7 6 8 7 5 7
5 8 2 6 4 8
5 2 4 4 2 2

Doplii ¢iselnou fadu do 11

01 357911 11 8 6

Spocitej s pomoci pocitadla

3+4- 6+1= 2+2=
2+5= 0+4= 1+3=
1+4= 3+3= 0+5=
0+7= 2+4= 4+3=
1+6= 3+4 = 442 =

Odcitej s pomoci pocitadla

7 -3= 8—4= 9-1=
5_4= 8-3= 9-2=
7-5= 8-6= 9-0=
7-0= 8—1= 9_3=
7-6= 8-2= 9_7-=

Rozloz ¢isla: 7, 8, 6,5,4,9, 10, 11

5+4=

5+ 5=

4+6 =

3+7=

5+3=

10-8=

10-5=

10-4=

10-9=

10-3=

11 5 2 10
6 11 11 10
3 8 1 11

0 3 5 7 9 10

9+1=
8+2=
7+3=
6+5=
2+9=
11-10=
11-2=
11-3=
11-0=
11-2=



